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6. P was an equal partner with Q in a business. The partnershin agreement
provided that life insurance pelicies in amount of $27,700 each be purchased
on the lives of the partners, payahle to tle survivine partner, and the

partnership shall pay the premiums on each policy. The right to change

the beneficiary of each of the policies was reserved to the insured under

the standard policy provisions. The decedent’s estate was bound to transfer

to the surviving partner all the interest in the partnership of the deceased
partner for the proceeds of the policy. P died and Q turned over the policy

proceeds to P's executor and the executor transferred P's interest to Q.

P's estate tax return included the life insurance proceeds in the gress

estate, but not the partnership interest. The Commissioner adjusted the

return by including it (om top of the insurance). Comment on this. Who
is right? (5 pecints)

7. G (50 year old) has twin grandchildren, A and B, each 10 years old. ie

wants to give them some property but does not know how they will turn out
vhen they grov up so is afraid to give them property outright. Iowever,

he doesn’'t want to retain powers since he doesn't vant the property in his
estate. So he set up a trust for each: income for 20 years to each then

distribute corpus. Should either die before the twenty years expires, trust
is to terminate and corpus to go to S, G's son.

a) Did G accomplish his purposes? (2 points)
b) Discuss all gift and estate tax consequences of this transfer.

(3 points)
¢) Would you have a better way to accomplish G's goals? (5 points)

Father 45, is a widower, has two daughters, 18 and 22 respectively. He owns
Blackacre, worth $100,000, and has a life income (ceasing at his death)
sufficient to support him in the custom he is used to. ¥e has exhausted
his lifetime gift exemption with prior gifts and is in the 247 gift tax
bracket. He intends marrying a woman with two children of her own, and
fairly wealthy. He wants to take care of his two daughters now, before
marrying. Advise him from a most economical gift-estate tax standpoint.
You may assume that Blackacre is his only asset. (10 points)

In 1960 H bought 100 shares of stock for $10,090 and had it registered in
the names of H & W as joint tenants. In 1965 the shares were worth $30,000;
E.& W then purchased a home for $40,000, giving the stock plus $10,000 from
W's separate funds, taking title as tenants by the entiréties. In 1969

the home was worth $50,000, at which time E made improvements on the home
costing §5,000, filing a gift tax return thereon. In 1972 they sold the
home for $60,000, bought another one (as tenants by the entireties) for
$36,000, and split the $24,000 cash evenly. WNo gift tax returns were filed
in 1965. Is there a gift in 1972, and is so how much? Do the problem

step by step, so I can see what you are doing. Also determine the consider-
ation furnished by H and W to the new home. (15 points)

Note: By State law tenancy by entirety cannot be dissolved unilaterally
by either spouse. W's factor is .6000.



